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Please check whether you have got the right question paper.
N.B: 1. All questions carry equal marks.
2. All questions are compulsory.
3. Figures to the right indicate full marks to a sub questions.

Attempt any two of the following.

Explain the Centralist features of the Indian Federal system?

Discuss on the demand of State Autonomy.

What is the impact of the changing nature of party system on center state relation?

Attempt any two of the following.

What are the features of national political parties in India?

Discuss the Ideology of any two Regional parties.

Examine the performance of National Parties in Lok sabha election held since 1989.

Attempt any two of the following:

Explain the role of caste in Indian’politics.

Discuss the suggestions to overcome communalism in India.

Explain the causes of low political participation of women in Indian politics.

Attempt any two of the following.

Explain the causes of Criminalisation of politics:
Examine the problem of insurgency in the North#East:
What is India’s strategy to fight global Terrorism?

Attempt any two of the following.
Discuss the use and misuse of article 356.

Write a note on ‘Nationalist Congress Party (NCP).
Discuss the Emergency power of the Central Government.

3k 3k 3k 3k 3k 3k 3k %k >k %k 3k 3k %k %k %k %k 3k 3k %k 3k %k %k 3k 3k %k %k %k %k *k %k %k %k k

EB0C22D99B59C9B 1CEE0466F01EB4460

[ Marks:100]

10
10
10

10
10
10

10
10
10

10
10
10

10
10
10



T2

T.R

.3

Q.5

Q.P. Code : 20052
[335: o amg]

Please check whether you have got the right question paper.
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